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Let A, B and C be three pegs. Let R, R,,...,R, be n diferent discs colored by red and let B, B,,...,B,
be n diferent discs colored by blue. Assume for each i diameters of R; and B, are the same. The R's and
B/'s are initially stacked

on peg A and peg B respectively such that the discs are increasing order of diameter from top to
bottom. The transformation of discs among pegs follows the following rules: (a) only disc may be moved
at one time; (b) a smaller disc may go only on top of a large disc, never vice versa (an empty peg accepts
any disk), and any two discs of same diameter may by allowed to go on top each other. If we-let W,
denote the minimum number of moves it takes to transfer

n red discs from peg A to peg B and n blue discs from peg B to peg A such that the discs are stacked
on peg A or peg B increasing order of diameter from top to bottom. We have
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Moreover we deal with a vertion that each of three pegs initially stacked n discs colored by one of
three colors (red , blue and green) and ask the minimum number S, of moves it takes to transfer all discs

to peg C. We have
()  S,=3X%X2™'—4n—6.



